1a. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents (unwtd) 1002 126 105 72 361 230 108 298 182 233 166 219 783
Base: All Respondents (wtd) 1002 134 106 65 384 241 71 353 179 222 133 214 788
The Conservative Party 209 26 45 17 90 23 7 57 35 49 48 45 164
21% 19% 43% 26% 24% 9% 10% 16% 20% 22% 36% 21% 21%
E* ADEF* EF* EF * GHI
The Liberal Party 329 41 29 16 134 78 30 106 67 74 53 73 256
33% 31% 28% 25% 35% 32% 43% 30% 37% 33% 40% 34% 33%
The New Democratic Party (NDP) 103 20 7 7 27 32 10 45 16 25 9 24 80
10% 15% 6% 11% 7% 13% 13% 13% 9% 11% 7% 11% 10%
D* * * D *
The Bloc Québécois (BQ) 25 - - - - 25 - 14 3 6 1 4 21
2% - - - - 10% - 4% 2% 3% 1% 2% 3%
* * * ABCDF *
Or some other party 30 8 4 3 9 5 2 15 7 5 * 6 24
3% 6% 4% 4% 2% 2% 3% 4% 4% 2% * 3% 3%
* * * * J
Would not vote/None/Would spoil ballot 60 8 - 5 20 26 1 30 10 8 6 16 44
6% 6% - 8% 5% 11% 2% 8% 5% 3% 5% 7% 6%
B* * B* B BDF * |
Don't Know/Not sure 245 31 21 17 104 52 20 86 42 56 14 46 199
24% 23% 19% 26% 27% 22% 29% 24% 23% 25% 11% 22% 25%
Sigma 1002 134 106 65 384 241 71 353 179 222 133 214 788
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:

Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1b. Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: All Answering (unwtd) 226 23 20 19 87 46 31 72 36 48 21 47 179
Base: All Answering (wtd) 245 31 21 17 104 52 20 86 42 56 14 46 199
The Conservative Party 29 5 3 4 13 3 1 5 11 5 5 3 26
12% 15% 17% 26% 12% 5% 6% 6% 25% 9% 36% 7% 13%
* %k * %k * % * * * %k * * %k * * %k *
The Liberal Party 42 5 2 1 23 5 4 17 2 14 2 10 31
17% 17% 12% 9% 22% 10% 20% 19% 5% 24% 17% 22% 16%
* % * %k * % * * * %k * * %k * * %k *
The New Democratic Party (NDP) 14 2 1 1 4 1 5 6 1 3 1 2 12
6% 8% 4% 5% 4% 2% 23% 7% 2% 6% 6% 4% 6%
* %k * %k * % * * * %k * * %k * * %k *
The Bloc Québécois (BQ) 9 - - - - 9 - 5 2 2 - * 9
4% - - - - 17% - 5% 5% 4% - 1% 4%
* %k * %k * % * D* * %k * * %k * * %k *
Or some other party 13 7 2 - 3 - 1 6 2 3 - 3 10
5% 24% 8% - 2% - 5% 7% 5% 5% - 6% 5%
* % * %k * % * * * %k * * %k * * %k *
Would not vote/None/Would spoil ballot 5 - - - 5 * * 5 * - - 2 3
2% - - - 5% 1% 1% 6% 1% - - 5% 2%
* % * %k * %k * * * %k * * %k * * %k *
Don't Know/Not sure 133 11 12 10 56 34 9 43 23 30 6 26 107
54% 36% 59% 61% 54% 64% 45% 50% 56% 52% 41% 55% 54%
* % * %k * % * * * %k * * %k * * %k *
Sigma 245 31 21 17 104 52 20 86 42 56 14 46 199
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1a/1b. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents (unwtd) 1002 126 105 72 361 230 108 298 182 233 166 219 783
Base: All Respondents (wtd) 1002 134 106 65 384 241 71 353 179 222 133 214 788
The Conservative Party 238 31 49 22 103 25 8 62 46 54 53 48 190
24% 23% 46% 33% 27% 11% 12% 18% 26% 24% 40% 23% 24%
E* ADEF* EF* EF * GHI
The Liberal Party 371 46 32 18 157 83 34 123 69 88 55 83 288
37% 34% 30% 28% 41% 35% 48% 35% 39% 39% 42% 39% 37%
The New Democratic Party (NDP) 118 23 8 8 32 33 14 51 17 28 10 26 92
12% 17% 7% 12% 8% 14% 20% 14% 9% 13% 8% 12% 12%
The Bloc Québécois (BQ) 34 - - - - 34 - 18 5 8 1 4 30
3% - - - - 14% - 5% 3% 3% 1% 2% 4%
* * * ABCDF * J
Or some other party 43 15 6 3 12 5 3 21 9 8 * 9 34
4% 11% 6% 4% 3% 2% 5% 6% 5% 3% * 4% 4%
Would not vote/None/Would spoil ballot 65 8 - 5 24 27 2 35 10 8 6 18 47
7% 6% - 8% 6% 11% 2% 10% 6% 3% 5% 8% 6%
B* * B* B BF * |
Don't Know/Not sure 133 11 12 10 56 34 9 43 23 30 6 26 107
13% 8% 11% 16% 15% 14% 13% 12% 13% 13% 4% 12% 14%
Sigma 1002 134 106 65 384 241 71 353 179 222 133 214 788
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:

Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1a/1b. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: Decided Voters Leaners (unwtd) 822 112 93 56 293 179 89 240 149 201 146 176 646
Base: Decided Voters Leaners (wtd) 804 115 94 50 304 181 60 275 146 185 120 170 633
The Conservative Party 238 31 49 22 103 25 8 62 46 54 53 48 190
30% 27% 52% 43% 34% 14% 14% 23% 32% 29% 44% 28% 30%
E* ADEF* EF* EF * Gl
The Liberal Party 371 46 32 18 157 83 34 123 69 88 55 83 288
46% 40% 34% 36% 52% 46% 57% 45% 47% 47% 46% 49% 45%
The New Democratic Party (NDP) 118 23 8 8 32 33 14 51 17 28 10 26 92
15% 20% 8% 16% 10% 19% 24% 18% 12% 15% 9% 15% 15%
BD* * * BD BD* J
The Bloc Québécois (BQ) 34 - - - - 34 - 18 5 8 1 4 30
4% - - - - 19% - 7% 3% 4% 1% 3% 5%
* * * ABCDF * J
Or some other party 43 15 6 3 12 5 3 21 9 8 * 9 34
5% 13% 6% 5% 4% 3% 6% 8% 6% 4% * 5% 5%
Sigma 804 115 94 50 304 181 60 275 146 185 120 170 633
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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2. Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their
performance?

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents (unwtd) 1002 126 105 72 361 230 108 298 182 233 166 219 783
Base: All Respondents (wtd) 1002 134 106 65 384 241 71 353 179 222 133 214 788
Top 2 Box (Net) 622 90 56 35 236 157 48 213 114 140 79 133 490
62% 67% 52% 54% 62% 65% 67% 60% 64% 63% 60% 62% 62%
* * * *
Strongly approve 188 31 12 4 80 46 16 65 41 47 25 41 147
19% 23% 11% 6% 21% 19% 23% 18% 23% 21% 19% 19% 19%
BC* * * BC C BC*
Somewhat approve 434 59 44 32 156 111 32 148 73 93 54 91 343
43% 44% 42% 49% 41% 46% 45% 42% 41% 42% 41% 43% 44%
* * * *
Bottom 2 Box (Net) 380 45 51 30 148 84 23 140 65 82 53 82 298
38% 33% 48% 46% 38% 35% 33% 40% 36% 37% 40% 38% 38%
* * * *
Somewhat disapprove 209 32 22 14 83 43 16 85 42 33 24 43 166
21% 24% 20% 21% 22% 18% 22% 24% 23% 15% 18% 20% 21%
* * * * |
Strongly disapprove 171 12 29 16 65 41 7 55 23 49 29 38 132
17% 9% 27% 25% 17% 17% 10% 16% 13% 22% 22% 18% 17%
* ADF* AF* * H
Sigma 1002 134 106 65 384 241 71 353 179 222 133 214 788
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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3. Have you heard anything about a recent incident in Canada's House of Commons involving Prime Minister Trudeau crossing the floor to forcefully lead a Conservative MP to his seat, accidentally elbowing a female NDP MP in the chest in
the process, so that a vote could begin?

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents (unwtd) 1002 126 105 72 361 230 108 298 182 233 166 219 783
Base: All Respondents (wtd) 1002 134 106 65 384 241 71 353 179 222 133 214 788
Yes (Net) 833 112 94 52 309 201 64 274 156 186 123 176 657
83% 83% 89% 80% 80% 83% 90% 78% 87% 84% 93% 82% 83%
Yes — I'm following the issue 368 49 49 25 143 77 25 109 62 92 69 63 305
37% 37% 47% 38% 37% 32% 35% 31% 35% 42% 52% 29% 39%
* E* * * G GH K
Yes —I've heard of it, but I'm not following it. 465 63 45 27 166 124 39 165 94 94 54 113 351
46% 47% 42% 42% 43% 52% 55% 47% 53% 42% 41% 53% 45%
* * * *
No — | haven't heard about this. 169 23 12 13 75 40 7 79 23 36 9 38 131
17% 17% 11% 20% 20% 17% 10% 22% 13% 16% 7% 18% 17%
Sigma 1002 134 106 65 384 241 71 353 179 222 133 214 788
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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4. A few days ago Prime Minister Trudeau appeared to be agitated about a delayed vote in the House of Commons. He crossed the floor and, according to the Speaker of the House, manhandled an Opposition Member of Parliament. As he
was doing this, he also elbowed a female Member of Parliament in the chest. Please indicate which of the following is closest to your point of view:

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K

Base: All Respondents (unwtd) 1002 126 105 72 361 230 108 298 182 233 166 219 783
Base: All Respondents (wtd) 1002 134 106 65 384 241 71 353 179 222 133 214 788
This is no big deal. It was a momentary lapse in 627 91 56 31 240 154 56 222 111 140 80 123 504
judgment by the Prime Minister that he has 63% 67% 52% 48% 62% 64% 78% 63% 62% 63% 61% 57% 64%
already apologized for. We should all just move BC* * * C BCDE*
on.
There is no excuse for Prime Minister Trudeau 375 44 51 34 145 87 16 131 68 82 52 91 284
behaving like this. It raises serious questions 37% 33% 48% 52% 38% 36% 22% 37% 38% 37% 39% 43% 36%
about his maturity and judgment. * AF* AEF* F F *
Sigma 1002 134 106 65 384 241 71 353 179 222 133 214 788

100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formula used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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